F18EI BRI 7o B FEIHIGESE

B

24 BE HIBE A E e | i IEE% BEHS
1 Bty —To4t BE FLt £EBA 255% 14 14 %L M5
2| 1 Bty —To4t i FH & 557% 284 284 FoRERIEL -]
3| BRXety—Toi L AE —F A87% 204F 20 | F-HEEBESRIBTL )
4 NRAEE (%) i ®E F 647 164F 1645 E_HEBRIETL -]
5 BXety—To4t ATE KE Rt 395 0.54F 0.54F L 5
6| 2 Bt aity—TUit HE T I ok | 1% 14 #L 1
7| #8 By —To4 R 4 Al fE 368% 0.54 0.54 7L M5
8 Bty —To4 | AN 1 MR R 207% 04 (1}:3 =L # 5
9 NOBLE £2EHE PR 8= 351 54 54 1L 5
10| 3 Xty —Toat 5 B 20%% 14 14 E_HEEBERIEL S
11| #8 Bzt —To4t & XBR BEH &RA 495% 04 (1}:3 F_HEBERIEL 5
12 I—Z2h—TKA=# HE A F=£ 335K 64F 3 FE_HEERIEL A5
13 Bty —To4 LE KE HE 367% 124 124 E_EERIEL -]
14| 4 KJH—EZR AR EE Bh 287 45 44 FEERIEL -]
15| #8 Xty —Toat 5 FK KE 395% 184 184 E_HEEBERIEL -]
16 (#)7Aa—KRL—av L8 HE BA 267% 14 14 E_RBRIEL i




8

g18lm Bk 7aVB¥FE| BiE

Kt 4 BERR Hi5E A =¥ Ef Fya =E HinE A =¥ | MEG
BRXeutyv—Toi [ES B K& 585 | Bk KR HY—TU [BERR |TH B 484 eLiva
KJtr—EZX AR =8 581 | &R 10|%kXetty—7To% |EILUE |A& — % 477 | 104
W71a—RL—vay KB g EA 577 | B4 & | 11|RMFLRIE BR)-EHE (Rovd - N—24 465 | B RE
KXtV —TUo% |EE XE HE 676 |v—yov¥ | 12|(XeutV—TU% [ALRR |EH RA 461 1241
I—ZXh—TBKAX&H | HEE A B4E 523 541 13| sy —To& | EHE |[KE Et 440 134¢
NOBLE ZHE PR B 522 | #RE 141Xty —To2t s Al ME 431 1441
XtV —To% |EE B2y /N 4 1) 503 | HAE 5|ty —To% LXK |[/ME R 426 15£iz
NMAE@H®RX2E B E F 488 84L 16| XtV —TU% |BE &Lt 8 425 | 164




